Chapter 8 Review Worksheet Name: Y_E\{

Graph the function. Identify the graph’s asymptotes and the function’s domain and range.
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Simplify the rational expression, if possible.
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Multiply or divide the expressions. Simplify the result. )
80x* % x-3 6x2-96
5e) yBy.SJ:VZ o) 2x-8 x2-9
DLLLUXXXXN X\ (x-3) b (x e
3Wj - OXX 21 s
BLLLIXAXX XA Y 0SS STt SALU)
AL - 20 xdxy)
‘j!{f{ W?XW 34 X DX T [ Z(x+4) |
_fj___ ?\X/‘ﬂxx*ﬂu(— j XT3 l
0) S 62 OF-=3
i - X'y 2xy’
woaben A L IXRY 2y
(% 16) xt)(x+ ) X0 T 328j
(X-)(x-2) B2 x%XYY {L R
(X +0)’ ’ FLeianr ‘Jjjj \
_X-Z ) |
2) A9 _Brtl | 2ov o v q\’?ﬁ b 13) Do 15+(3sz5x) .« .\Sq s
X7 =TX x X Y *l = \
WX Bx vl O ‘?"5 w\ﬁﬁnxtmx D)0 IXZVD Ve x-1S
oy TAlX 20X 3K m-n)Hx—})/ WX MK 3x(2x3)+5lx-d)
X?-1x -
) X ( X2 t9) (2x-3) (349
(X n(\v\ D 53X X Ceakexd)
X a0 Sx (Hx ) / 21XX XX
XDEX - | 53X X T (2x-5)(3%A45) 2,)\’3]

X (X - \\KX 5) mm) T1XX X (ZK19)
B = X?}/HX l)ku()f\ (x-4)x-3
%% K- X3 ( %ﬂ\l—*——-)—

Scanned with CamScanner



Perform the indicated operation(s) and simplify.
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Solve the equation. Check for extraneous solutions.
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